Communist Manifesto
Quiz #4 - Karl Marx

There is 1 answer per question.
True/False questions please fill in A for
true and B for false.

1.

Marx identifies the ruling class as:
a. Bourgeoisie
b. Kings
c. Authorities
d. Hierarchies

2. Who will be responsible for the fall

3.

4.

of the ruling class?
a. The world market
b. United States
c. Proletariat
d. Religious Institutions

The process by which products
take on the illusion of being
necessary components of our
everyday life is called:

a. Commodification

b. Separation

c. Exploitation

d. Institutionalization

T/F: Marx believes that serfs and

modern day laborers are equivalent

Marx says that, as technology and
machinery increases, which of the
following differences are being
phased out?

a. Gender Differences

b. Physical Differences

c. Cultural Differences

d. Educational Differences

According to Marx, Capital is quite
literally the same thing as:

a. Wages
b. Class
c. Political Power
d. Labor

Marx says that as the
repulsiveness of labor increases:
a. The wage increases
b. The wage decreases
c. The wage fluctuates
depending on class
d. The wage stays exactly the
same

Marx believes the main reason
people work is for:

a. Creativity

b. Production

c. Class Advancement

d. Sustenance



